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-| _2 Puzzle: Calc-Words

Order of Operations and Evaluating Expressions

Instead of entering a letter in each box of this crossword puzzle, write a digit!
Draw the digit in each box so it looks like you typed it using your calculator.
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To check your answers, turn this page upside down. If each horizontal or vertical
group of numbers forms a word, then your answers are correct!
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ACROSS DOWN
S‘ [ U'F il’l ( 1./Find the value of xX* + 2y for ( 2.\Evaluate 2x* + 2:3 + 2 whenx = 7.
imp - _ _ C. 5537
x=7andy = 1. 345 7
| 3.\Find the value of x* + 2xy + 3y?
@Silnplify 524 + 55 - 627. 35009 = forx = 70 and y = 4. 5508
'\ 5
f 6. What is the value of @What is the simplified form of
" 2x3 + 4x®> + 4x + 8 when x = 15? 351 + 524 - 722 38079
7718

7.) Simplify 1583 + 7986 - 9685. 77345993 (5. Evaluate 5 + y?) when

@Find the value of x = 3andy = 20. 3215

12 + 2 + 4 + 78 - 91. 7108 (8___%at is the value of

What is the simplified form of " 11x* — 6x + 1whenx = 297 9078

2*-3(9 - 8 + 1)? 3504 'LQ/ Find the value of x2 + 3x + 0.2345 when
- x = 0.17. (Include the leading zero and
ignore the decimal point.) 0.7734
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Work Mat (30 Boxes): Show your work for EVERY problem in the appropriate space below. Circle
your final answer. If you need more work space, complete it on loose leaf paper and staple it to this
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